MTH 254H: Quiz 1

1. (5 pts) Show that in any parallelogram the sum of the squares of the lengths of the four
sides equals the sum of the squares of the lengths of the two diagonals.

2. (5 pts) The angle at which two lines intersect is the angle between their direction vectors;
in other words, if £1(¢) = a; + tvy and 43(¢) = ag + tvy and the two lines intersect in a
single point, then the angle at which the lines intersect is the angle between vy and va.
The lines £1{t) = (¢t + 1,2t — 7,2) and £3(t) = (2t,¢ + 3, — 2) intersect at a single point.
Find this point, and determine the angle at which these two lines intersect.

O | o :
| o ST ol q ~ [ {
j Fe «JC'GJ'”QM_‘ = w/ af“adc’no»}.s
4 - at
L
C1 = -‘4--* 7 !
a +h anol af —‘6-—:. Wwe See Chet

W03, g 1 - el s dedd

S 2u3 %y znp Uy

S$o the Scm. oF the Squases o €he Ir_n‘j’ohs -F tne olia ls
'Ja’nc\.

15 €he Sen hoe
bl oF &) Szwq,/bd aF Ehe leh. Ehs a'; q’l,( F

Cw s .s'}oce s
-

@ 26 .. L, %)

ex3at
W]f\. L= PPN Ebf mee va 1“ e o}: & a we x5

E+t 2 2 0% 6 2:5-2 @0*1325 @25‘-‘7)‘?"!3 v
2¢-7 2 $5:3 @ 725 £tz g
2z25.2 ©, £=7

_—

e fmt’-s intes S o

at £:-3 ..

_ Anel S20 el s Ene pPeint (g 3 2)
{ | .
he anjla lne,f;,w-e.-e,q, Erpe linesg Vs Ehe /

ﬁ.f\.jjc L‘e_{;u__u“_ Chel~ oeire.duic
N

v "( i A Ly
y =\l z e anel v, T 7
v 5 J Yz (z,:/ 1} s e Cos-.(\ll—__nvz L Ces™t Tcas ™ g
e s 1, Js V7 {5
2 S y s

Ve e, s




